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MASTER OF ARTS (ECONOMICS) 
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MECE-001 : ECONOMETRIC METHODS 

Time : 3 hours 	 Maximum Marks : 100 

. Note : Answer the questions from each section as directed. 

SECTION A 

Answer any two questions from this section. 	2x20=40 

1. Consider a two-equation model with 

Y1 =a1 +a2 Y2+u1 

Y2 bl b2 Y1 + b3 Z1 + b4 Z2 4" u2 

Estimate the first equation with a view to 
obtaining possible bias, unconsistency and 
efficiency through 

(a) OLS 

(b) Indirect Least Squares 

(c) Instrumental variables using Z1  as an 
instrument 
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2. Explain the concept of autocorrelation. What are 

its consequences on the OLS estimates ? Describe 

one of the methods of detecting autocorrelation in 

a regression model. 

3. Explain the underlying ideas behind the logit 

model. Explain on what grounds logit model is an 

improvement over linear probability model. 

4. The relationship between variables Y and X is 

linear, that is, Y = a + f3X + E. Assume, however, 

that the classical homoscedasticity assumption is 

violated. Specifically, for the first n observations, 

the variance of the error term s is 1, whereas for 

the remaining n2  observations, the variance of 

the error term is 4. 

(a) What problems arise if you estimate a and 13 

by OLS ? 

(b) How would you estimate a and /3 by 

Generalised Least Squares ? 
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SECTION B 

Answer any five questions from this section. 	5x12=60 

5. Explain the consequences, of multicollinearity. 

Suggest remedial measures for the same. 

. Explain why measurement error in the 

explanatory variables will lead to inconsistent 

parameter estimates. 

7. For the regression model 

Yt =a+11Xt +st, t=1,2,3,...T 

where R  is known, show that the error variance of 

the forecast will be cr2  Cl + , where a2  is the 

population variance. 

8. Suppose you are given the relationship between 

expenditure and income for two time periods as 

Ei  = al  + a2  Y1  + El 

 and E2 = + 132 Y2 + 62 

State how you would apply Chow test for 

structural stability between the two time periods. 

9. Explain the concept of Best Linear Unbiased 

Estimators (BLUE). Prove that OLS estimators 

are BLUE. 
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10. Define the partial adjustment model. How is it 
different from dynamic models ? 

11. Write a note on the method of Principal 
Component Analysis. 

12. Write short notes on the following : 

(a) RESET Test 

(b) Dummy Variable Trap 
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